A - b R [\ A 4= =
TH75E REMIBE/NFR FRITEFE 4A188R%E
17 58 68 78 ;] 9 E] __10A B[ __11A B[ 125 B___A E 2R 3 3H
BEARER
% x A x |eA2EDD & A | T#11:30 * + A X B B
BEHLD
* & A x + g1y, x B X |ERRIE#HS & A A
TEERNEE
X + x |eAREND x B x &|(3® A x + % |2R2ERD x |eR2ERD
& B K| PR SFE 4l e A x + X |ERRERD x B * K |oFemiksn
BB TZ40F "
+ A X + X & B k % (BN (ATE) A AsmmaFE) (8 £
RRE=R(FR) ’
— o F ]
A % & A x + A | GMBR 1240 B + x| 11:30F# 2 &
BERELY
BRIBR 1405T
A K |EEemEmm + A & X A x |72:Em & B k| sammana + +
{BATE14:30~
B BRIBE 1430 BAIDR 1405T
& BRBIRTRI30 & |TH = x E= A K kAR + A x B =
{BARE14:30~
& |wmEmERIz0 (812 (1-2- 6% -+ (B8] 5 R * | £ x |7=77E8D x [eExeF®e A X |75 2:Em5 # B A
BREL2 #t i {BATE14:30~
BEmE (2 6%) HEIBR 1405T BEEAZFRE
& |11 T30 + x| 752:EmD * & A x + A TiamER (10| 5 x + ® 75250 x
(E8sL) {BAHE14:30~ 1
: HEIBR 1405T
& | VELTRIG0 Il 5 X . x + x| 757:ER® x B * X
{BATE14:30~
+ A & |k mRa0e + x # B * & |(FEREE A * X
RRE—R (FfiE)
A « PR 4% & A K + A x + & |EBASENHD 2 &
A | 15 mms x + A X B x |venamaea & [ExRa(3D) A x + +
x| SRSEED x A X |BB#T & A x + A X B B
BRIBR TR
x & A *|11:30 + x x B % & A A
BEELE
" BRIBR TR .
x|SR (65 + x A(1130 " A K otz [l & A Kk B 1eose NG + ® X :
*H
LERRE 1-45F RN TIR11:30 = " #RIBR 1405
£ | S () = ki 000~1110 (8 2 |EREm G A K |6 eEiRio (M8l + Py K (Fn@cmiEisso. (18] B 7% E3 ﬂie
+ A x| 25 * X £ H K % |FHBR A0SR 18 5 & |phRE@ER) 18] & [wenT
B x|PHBE 6% 190l & B X £ A x + X |757:E8© & |$hRE(HH) &
RIFE—R
A|mhee 3. 5= |21 & + A & A x & A K| ERER(FE) * +
RHRE
BhRE 2%
k|4 x A x & A x + A [eaeT & B B
CLL
BORE 1% B R :
- £ [BEemBE A * + x x [seemsensno @8l 5 & | FH11:30 & |[PEERIER A g |EHER 1130
; Tz :
x - B3k x x B x & |seemannsn|gll A | FB1130 + % K |BHER TR11:30
i 75/ AR BT -BER T
& | 1:emans ® 28 0 | BnaFRO * & A & + & |(@ifrsk) X A % K |#11:30
BEMLE SBEHLB
SHEMBRESH
£ A  |ommasisaLn (@] + x & |PTEmEE £ * & A * x
REE—R B~
B x|mHEE sEe |21l 2 B x + A *|FavRBETEG + % £ &
13:30~
5 - 6F%PM X2 =/
A |Bemns rcason [28] K kS A x B & 2|27/ RBEFR o " + N
2,
EfHRS 3~ 5F%
x * 830~ B x & A x + A X |em () B
TEemitne zauARE 5% J—
7K (FE) kS g = A K fu o X | BARIEHO PN H X kS (FE) A
+ x B & |ZFERNEE * + x




